College Drive/Hwy 19 Reconstruction Project

WHAT ARE WE DOING ON COLLEGE DR/HWY 19?

MnDOT is planning to reconstruct College Drive/Hwy 19 from 4th Street to Bruce Street in 2025.

LEARN MORE

To learn more about what we heard from the community and sign up to receive project emails visit: www.mndot.gov/d8/projects/hwy19marshall







- Advertise/award/prepare construction agreement



2025

Begin construction

Construction Cost Estimate

TOTAL PROJECT COSTS						NDOT TOTALS			4	
	Units	Unit Cost	Quantity		Total	Quantity	Total	Quantity	Total	
AVING AND GRADING (P & G) COSTS	ton	¢100.00		\$		100	¢ 10.000	0	\$ -	
ituminous Pavement (1) ' Concrete (Walk, Median)	ton sq ft	\$100.00 \$8.50	0 101,446	*	- 862,291	166 97,410				see No
Colored concreate (Walk, Median) (5)	sq ft	\$17.00	4,800	-	81,600	2,400		<i>'</i>		
Concrete pavement (Truck Apron, Driveway)	sq yd	\$67.50	2,633		177,716	2,633		<i>'</i>	\$ -	
oncrete pavement (1)	cu yd	\$67.50	37,362		2,521,932	35,902				See N
upplemental Reinf Bars	pound	\$4.00	50,000		200,000	45,000				
lass 6 Aggregate Base (1)	cu yd	\$35.00	8,760	-	306,610	8,425		<i>'</i>		See N
ubgrade Excavation (1)	cu yd	\$10.00	42,645		426,449	40,988			· · · · · · · · · · · · · · · · · · ·	
ommon Excavation	cu yd	\$10.00	15,554		155,535	14,986				
ommon Borrow	cu yd	\$4.00	77,768		311,071	74,929				
		\$25.00	42,645		1,066,121	40,988				11
elect Granular Borrow	cu yd		· ·				. , ,			11
ontaminated Materials Hauling	cu yd	\$55.00	1,000		55,000	200			· · · ·	See N
ridge Approach Panels	sq yd	\$250.00	155		38,750	155			\$ -	
urb and Gutter Design B424	lin ft	\$30.00	364	\$	10,932	364	\$ 10,932		\$ -	
urb and Gutter Design B624	lin ft	\$35.00	17,218	\$	602,630	16,341			\$ 30,692	4
) Subtotal Paving and Grading			_	\$	6,816,638		\$ 6,461,526		\$ 355,112	4
THITIES REMOVALS PRANNACE ETC							95%	ó	5%	б
TILITIES, REMOVALS, DRAINAGE, ETC.		5.0%		¢	338,082		\$ 320,470	╏────┐	\$ 17,612	-
emovals/Clear and Grub		5.0%	4	\$		0.5				
ignal removal (Lyon)	each		1	\$	15,000	0.5				
ity Utilities (sanitary) ity Utilities (Watermain)	lump		T A	\$ \$	374,500 353,900		\$ -	1	\$ 374,500 \$ 353,900	
	lump	5.0%	Ĩ	ծ \$	353,900 338,082		\$ 320,470	II	\$ 353,900 \$ 17,612	
igning, Striping, Traffic Control				ծ Տ		30%				
ewatering rosion Control and Turf Establishment		10.0% 3.0%		\$ \$	676,164 202,849	30%	\$ 202,849 \$ 192,282		\$ 473,315 \$ 10,567	
b) Subtotal Utilities, Removals, Drainage, Etc.	1	5.0%		\$ \$	2,298,577		\$ 192,282 \$ 1,043,570		\$ 10,567 \$ 1,255,007	╣
) Subiotal Otinites, Removals, Dramage, Etc.				•	2,290,577		\$ 1,043,570	1	\$ 1,255,007	
RAINAGE										
torm Sewer				\$	1,511,000		\$ 1,150,000		\$ 361,000	See N
:) Subtotal Drainage				\$	1,511,000		\$ 1,150,000		\$ 361,000]
TRUCTURES/SIGNALS/MISC. COST								<u> </u> ,		4
oadway Lighting (MnDOT) (2)	each	\$7,000	12.0	\$	84,000	8.0	\$ 56,000	4.0	\$ 28,000	See N
oadway Lighting (3)	each	\$3,100	17.0	\$	52,700		\$ -	17.0	\$ 52,700	See N
ecorative Lighting (Single Assembly) (4)	each	\$4,000	17.0	\$	68,000		\$ -	17.0	\$ 68,000	See N
ecorative Lighting (Double Assembly) (4)	each	\$6,400	22.0	\$	140,800		\$ -	22.0	\$ 140,800	See N
ecorative Lighting (intersection lighting) (4)	each	\$1,600	8.0	\$	12,800		\$ -	8.0	,	11
ectangular Rapid Flashing Beacon (RRFB) (Lyon)	each	\$78,000	1.0	· ·	78,000		\$ -		\$ 78,000	
		. ,		-	,				. ,	
ignal System A (Saratoga)	each	\$250,000	1.0		250,000	0.5			. ,	
ignal System B (Main)	each	\$ 250,000	1.0	\$	250,000	1.00	\$ 250,000	0.00	\$ -	
ecycle/waste receptacles	each	\$ 1,200	8.00	\$	9,600		\$-	8.00	\$ 9,600	
ike loops (with city logo)	each	\$ 1,400	8.00	\$	11,200			8.00	\$ 11,200	
etal street bench	each	\$ 1,200	12.00	\$	14,400			12.00	\$ 14,400	
				\$	-		\$-		\$-	
I) Subtotal Misc				\$	971,500		\$ 431,000		\$ 540,500	
				_						1
a+b+c+d) Subtotal Construction				\$	11,597,714		\$ 9,086,096		\$ 2,511,619	
oadway Risk & Contingency		10.0%		\$	1,159,771		\$ 908,610		\$ 251,162	
MP		5.0%		\$	579,886		\$ 454,305		\$ 125,581	
obilization		5.0%		\$	579,886		\$ 454,305		\$ 125,581	1
) Subtotal Miscellaneous				\$	2,319,543		\$ 1,817,219		\$ 502,324	1
								<u> </u>		ļ.
a+b+c+d+e) Total Construction				\$	13,917,257		\$ 10,903,315	1	\$ 3,013,942	
nflation Adjusted Construction Cost for 2025	(1 14 1	actor)		\$	15,865,673		\$ 12,429,779		\$ 3,435,894	
	(•	10,000,010		• .2,.20,.10	1	• •,100,001	1
esign & Construction Engineering		16.0%		\$	2,226,761		\$ 1,744,530		\$ 482,231	i
										Ī
W Cost										
				=			=		-	
							\$ -		\$-	
otal RW				\$	-		-			l
otal RW				•	- 18,092,434		\$ 14,174,309) 1	\$ 3,918,125	<u> </u> 1



MnDOT Roadway
MnDOT Sidewalk/Trail
Shared Parking Cost (10% City Cost)
City Approach Cost (Country Club Drive)
City Approach Cost (2 nd Street)

TH 19 Reconstruction in Marshall: Streetscape Concept



Streetscape Design Intent: Durable design, minimal to low maintenance; materials, colors and visual aesthetics complementary to Main Street TH 59 streetscape, but not a copy; cost appropriate; and limited street trees at appropriate locations (for example at Memorial Park).

(1) Pedestrian Access Route: Standard concrete, limited joints, size can fluctuate as needed against facades/doorways.

(2) Utility Zone: Colored concrete, 2'x2' squared scored panels to differentiate and visually reinforce the curb line, includes area for pedestrian scale light units, bike loops, recycle/waste receptacles, overhead street lighting units, signal cabinets, mental benches on concrete pads, moveable flower pots (per City practice), etc.

- ③ Pedestrian Scale Lighting
- ④ Recycle/ waste Receptacle
- 5 Bike Loop (parallel with curbline)
- 6 Metal Bench 6' Length















Section B

EB Lane

12-16-2020 Revised 5-4-2021